Chapter 6 Practice Test #2                                                              Name________________
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
A change in the color of a solution is a sign that

	a.
	a chemical change is taking place.
	c.
	oxygen is present.

	b.
	a physical change has just occurred.
	d.
	organic chemicals are present.


____
2.
A substance that undergoes a change in a chemical reaction is

	a.
	a product.
	c.
	a reactant.

	b.
	a chemical.
	d.
	an enzyme.


____
3.
What happens in a chemical reaction?

	a.
	Atoms are destroyed.
	c.
	Molecules are created.

	b.
	Atoms are created.
	d.
	Atoms are rearranged.


____
4.
In an exothermic reaction, energy is transferred from

	a.
	the reactants to the surroundings.
	c.
	one reactant to another.

	b.
	the surroundings to the reactants.
	d.
	the container to the chemicals.


____
5.
Which statement about endothermic reactions is correct?

	a.
	Energy is always created in the form of heat.

	b.
	Energy is transferred from the surroundings to the reactants.

	c.
	Energy is used to force electrons to move to higher energy levels.

	d.
	Energy is transferred from the reactants to the surroundings.


____
6.
The energy source in photosynthesis is

	a.
	light energy.
	c.
	heat energy.

	b.
	chemical energy.
	d.
	kinetic energy.


____
7.
A synthesis reaction is a reaction between at least two compounds in which

	a.
	one breaks down into at least two products.

	b.
	a compound is decomposed by an electric current.

	c.
	a compound burns in the presence of oxygen.

	d.
	a new, more complex compound is formed.


____
8.
Which of the following is an example of a decomposition reaction?

	a.
	photosynthesis

	b.
	digestion

	c.
	polymerization

	d.
	exchange of ions between two compounds


____
9.
The product of the synthesis reaction between sodium and chlorine gas is

	a.
	polyethylene.
	c.
	sodium chloride.

	b.
	carbon dioxide.
	d.
	copper (II) chloride.


____
10.
When methane reacts with abundant amounts of oxygen, the products are

	a.
	carbon dioxide and water.
	c.
	soot and water.

	b.
	carbon monoxide and water.
	d.
	simple sugar and oxygen.


____
11.
When water is broken down by electrolysis, the products are

	a.
	water and carbon dioxide.
	c.
	hydrogen gas and oxygen gas.

	b.
	hydrogen and oxygen ions.
	d.
	oxygen and methane.


____
12.
Fragments of molecules that have at least one electron available for bonding are called

	a.
	ions.
	c.
	protons.

	b.
	orbits.
	d.
	radicals.

	
	
	
	


____
13.
A chemical equation is balanced by changing or adding

	a.
	chemical symbols.
	c.
	coefficients.

	b.
	subscripts.
	d.
	reactants.


____
14.
In the reaction 2H2O  2H2 + O2, if you start with 2 mol of water, how many moles of hydrogen gas are produced?

	a.
	1 mol
	c.
	3 mol

	b.
	2 mol
	d.
	4 mol


____
15.
In the reaction 2H2O2  2H2O + O2, if you start with 4 mol of H2O2, how many moles of O2 will you end up with?

	a.
	4 mol
	c.
	2 mol

	b.
	3 mol
	d.
	1 mol


____
16.
If you start with 5 mol of O2 in the reaction 2Mg + O2  2MgO, how many moles of Mg will you need?

	a.
	4 mol
	c.
	8 mol

	b.
	5 mol
	d.
	10 mol


____
17.
In the reaction H2S + 2O2  H2SO4, the law of definite proportions predicts that for every mole of H2S you will need how many moles of O2?

	a.
	1 mol
	c.
	3 mol

	b.
	2 mol
	d.
	4 mol


____
18.
In the reaction 2Mg + O2  2MgO, the law of definite proportions states that for every 2 moles of Mg you will need how many moles of O2?

	a.
	1 mol
	c.
	3 mol

	b.
	2 mol
	d.
	4 mol


____
19.
In a balanced chemical reaction, the total mass of the products always equals the

	a.
	molar mass of the reactants.
	c.
	total mass of the reactants.

	b.
	atomic mass of the reactants.
	d.
	proportional masses of the reactants.


____
20.
All of the following factors may speed up a chemical reaction except

	a.
	smaller surface area.
	c.
	higher temperature.

	b.
	higher pressure.
	d.
	presence of a catalyst.


____
21.
An enzyme is a special kind of catalyst that works to

	a.
	speed up a specific biochemical reaction.

	b.
	break down chemical elements.

	c.
	slow down a chemical reaction.

	d.
	maintain the correct temperature for a reaction.


Completion
Complete each sentence or statement.

22.
Balance the following chemical equation by filling in the correct coefficient on the right-hand side. H2 + Cl2  ____________________ HCl

23.
Balance the following chemical equation by filling in the correct coefficients. ____________________  KI + Br2  ____________________ KBr + I2

24.
Suppose you were producing zinc chloride by the reaction Zn + 2HCl  ZnCl2 + H2. If you started with 4 moles of zinc, you would need ____________________ moles of hydrogen chloride and you would produce ____________________ moles of zinc chloride.

25.
In the chemical equation CH4 + O2  CO2 + 2H2O, for every one mole of carbon dioxide you produced, you would have ____________________ mole(s) of water.

26.
You are producing magnesium oxide by the reaction 2Mg + O2  2MgO. If you start out with 6 moles of magnesium, you will need ____________________ moles of oxygen, and you will produce ____________________ moles of magnesium oxide.

27.
In the chemical equation H2 + Cl2  2HCl, the mole ratios are ____________________.

28.
In the chemical equation FeS + 2HCl  FeCl2 + H2S, the mole ratios are ____________________.
Essay

29.
Explain why it is dangerous to burn a carbon-based fuel, such as propane or methane, in a closed room or building.

30.
Why is it incorrect to balance a chemical equation by changing the subscripts? Explain.
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